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Exercise

1. Give some examples of data that you can collect

from your day to day life.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dKKFgUSAXbNY
https://dl.doubtnut.com/l/_N2GYpfFaRyx2

2. Classify the data in Above as primary and secondary

data.

° Watch Video Solution

3. The blood groups of 30 students of Class VIII are
recorded as follows: A, B, O, O, AB, O, A, O, B, A, O, B, A, O,
O, A, AB, O, A/ A, O, O, AB, B, A, O, B, A, B, O. Represent
this data in the form of a frequency distribution table.
Which is the most common, and which is the rarest,

blood group among these students?

o Watch Video Solution



https://dl.doubtnut.com/l/_N2GYpfFaRyx2
https://dl.doubtnut.com/l/_2SfGlBqmXotE
https://dl.doubtnut.com/l/_J3q6SdMlYB7K

4. Distance (in km) of 40 engineers from their place of

residence to their place of work were found as follows

[ L TN TR DO e pOreE s |

5 3 10 20 25 11 13
7 12 31 19 10 12 17
18 11 32 17 16 2 7
9 7 8 3 3 12 15
18 3 12 14 2 9 (]
15 15 7 6 12 Construct

n grouped frequency distribution table with class size
5 for the data given above taking the first interval as O
— 5 (5 not included). What main features do you

observe from this tabular representation ?

o Watch Video Solution

5. The relative humidity (in %) of a certain city for a

month of 30 days was as follows


https://dl.doubtnut.com/l/_J3q6SdMlYB7K
https://dl.doubtnut.com/l/_PfIFTtKxOBYo

953 929 %3 %42 951
89.2 923 97.1 935 9.7
951 972 933 9.2 973
96.2 921 849 90.2 957
98.3 973 96.1 92.1 89

Construct a grouped frequency distribution table with

classes 84 - 86, 86-88 etc.

o Watch Video Solution

6. The length ,breadth and height of a room are 6m,5m
and 4m respectively. Find the cost of white washing
the walls of the room and the ceiling at the rate of Rs

10.50 per m”2.

o Watch Video Solution



https://dl.doubtnut.com/l/_PfIFTtKxOBYo
https://dl.doubtnut.com/l/_OFbeYF7CCrxA

7. A study was conducted to find out the concentration

of sulphur dioxide in the air in parts per million (ppm)

of a certain city. The data obtained for 30 days is as

follows :

0.03 0.08 0.08 0.09
0.16 0.05 0.02 0.06
0.11 0.08 0.12 0.13
0.08 0.01 0.10 0.06
0.11 0.07 005 0.07

0.04
0.18
0.22
0.09
0.01

0.17
0.20
0.07
0.18
0.04

Make a

grouped frequency distribution table for this data

with class intervals as 0.00 - 0.04, 0.04 -0.08 and so on.

o Watch Video Solution



https://dl.doubtnut.com/l/_OFbeYF7CCrxA
https://dl.doubtnut.com/l/_kBDuUyZepGS6

8. Three coins were tossed 30 times
simultaneously.Each time thenumber of heads

occurring was noted down asfollows :

3
131122 0 121
300112 3 220 |pepares

frequency distribution for the data given above

o Watch Video Solution

9. The value of m upto 50 decimal places is given
below:
3.14159265358979323846264338327950288419716939937510

(i) Make a frequency distribution of the digits from O


https://dl.doubtnut.com/l/_blvDu8C75ywC
https://dl.doubtnut.com/l/_Rm7n5N1J0Spp

to 9 after the decimal point. (ii) What are the most and

the least frequently occurring digits?

o Watch Video Solution

10. Thirty children were asked about the number of
hours they watched TV programmes in the previous

week. The results were found as follows :

16235 12 5 48
103 4 122 8 15 1 17 6
IZ2ZRRS9O9OG 8 T 1412

: Make a

frequency distribution table for this data, taking class

width 5 and one of the class interval as 5— 10

o Watch Video Solution



https://dl.doubtnut.com/l/_Rm7n5N1J0Spp
https://dl.doubtnut.com/l/_D28KuaWHsiIG

11. A company manufactures carbatteries of particular
type. The lives (in years) of 40 such batteries were

recorded as follows :

26 30 3.7 3.2 22 41 35 45
35 23 32 34 38 32 46 3.7
25 44 34 33 29 30 43 18
35 32 39 32 32 31 3.7 34
46 38 3.2 26 35 42 29 3.6 | construct

a grouped frequency distribution table for this data,
using class intervals of size 0.5 starting from the

interval 2— 2.5.

o Watch Video Solution



https://dl.doubtnut.com/l/_sWnFftI5hjZu

12. The following data on the number of girls (to the
nearest ten) per thousand boys in different sections of

Indian Society is given below :

Section Number of girls
per thousand boys
Scheduled Caste 940
Scheduled Tribes 970
Non SC/ST 921
Backward districts 950
Non-backward districts 920
Rural 9310
Urban 910

Represent the information above by a bar graph

° Watch Video Solution



https://dl.doubtnut.com/l/_R0V8i0ztsFSM

13. Given below are the seats won by different political
parties in the polling outcome of a state assembly

elections :

Politicall A B © D . F
Parties
Seats: 5 55 3T 2o 1> 3T

Won : Draw a

bar graph to represent the polling results.

o Watch Video Solution

14. The length of 40 leaves of a plant are measured
correct to one millimetre, and the obtained data is

represented in the following table.


https://dl.doubtnut.com/l/_YMFflUDUaLsV
https://dl.doubtnut.com/l/_rUMHD86siiwF

Length in mm Number of leaves
118-126 3
127-135 3
136-144 2
145-153 12
154-162 5
163-171 4
172-180 2
: Draw a

histogram to represent the given data.

° Watch Video Solution

15. The following table gives the life times of 400 neon

lamps :


https://dl.doubtnut.com/l/_rUMHD86siiwF
https://dl.doubtnut.com/l/_CooHBamUfqhl

Lifetime (in hrs) | Number of lamps
J00-400 14
400-500 56
S00-600 60
600-700 86
TOO-800 74
S00-200 62
Q00-1000 48

Represent the given information with the help of a

histogram.

° Watch Video Solution

16. The following table gives the distribution of
students of two sections according to the marks

obtained by them :


https://dl.doubtnut.com/l/_CooHBamUfqhl
https://dl.doubtnut.com/l/_OEjkqHTmkUEY

Section A Section B
Marks Frequency Marks Frequency
{1-10 3 0-10 Sy
10-20 9 10-20 19
20-30 17 20-30 15
30-40 12 J0-40 10
40-50 9 40-50 1

Represent the marks of the students of both the
sections on the same graph by two frequency
polygons. From the two polygons compare the

performance of the twosections.

o Watch Video Solution

17. The runs scored by two teams A and B in the first

60 balls in a cricket match are given below :


https://dl.doubtnut.com/l/_OEjkqHTmkUEY
https://dl.doubtnut.com/l/_BJAFUlNXyzUs

Number of balls | Team A | Team B
1-6 2 3
T-12 1 [
13-18 8 2
19-24 9 10
25-30 4 3
31-36 5 6
37-42 6 3
43748 10 4
49-54 6 8
55-60 2 10

Represent the data of both the teams on the same

graph by frequency polygons.

o Watch Video Solution

18.100 surnames were randomly picked up from a local

telephone directory and a frequency distribution of


https://dl.doubtnut.com/l/_BJAFUlNXyzUs
https://dl.doubtnut.com/l/_U6vvrPeo5RAD

the number of letters in the English alphabet in the

surnames was found as follows :

Number of alphabets | Number of people
1-4 6
4-6 30
6-8 44
8-12 16
12-20 4

histogram to depict the given information.

: Draw a

° Watch Video Solution

19. The following number of goals were scored by a

team in a series of 10 matches : 2,3,4,5,0,1, 3, 3,4, 3

Find mean, median and mode of these scores :

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_U6vvrPeo5RAD
https://dl.doubtnut.com/l/_m9JygHH5Hs8Y

20. In a mathematics test given to 15 students, the
following marks (out of 100) are recorded: 41, 39, 48,
52, 46, 62, 54, 40, 96, 52, 98, 40, 42, 52, 60 Find the

mean, median and mode of this data.

° Watch Video Solution

21. The following observations have been arranged in
ascending order. If the median of the data is 63, find

the value of x. 29, 32, 48, 50, x, x + 2,72, 78, 84, 95

° Watch Video Solution



https://dl.doubtnut.com/l/_m9JygHH5Hs8Y
https://dl.doubtnut.com/l/_mhQDZHptNlGw
https://dl.doubtnut.com/l/_fyb9u89DliST
https://dl.doubtnut.com/l/_XpXyss70iWKL

22. Find the mode of 14, 25, 14, 28, 18, 17, 18, 14, 23, 22,

14, 18.

o Watch Video Solution

23. Find the mean salary of 60 workers of a factory

from the following table :

Salary (in7) | Number of employees;
3000 16
4000 12
S000 1
GO0 L
TO00 o
S000: 4
9001 3
10000 1
Total 60



https://dl.doubtnut.com/l/_XpXyss70iWKL
https://dl.doubtnut.com/l/_wXgw8MOvAk7H

| ¥ Vvatch Video Solution |

24. Give an example of a situation in which : the mean

is an appropriate measure of central tendency.

° Watch Video Solution

25. Give one example of a situation in which the mean
is not an appropriate measure of central tendency but
the median is an appropriate measure of central

tendency.

o Watch Video Solution



https://dl.doubtnut.com/l/_wXgw8MOvAk7H
https://dl.doubtnut.com/l/_X15VrEOjBX0l
https://dl.doubtnut.com/l/_KMTjHfmVWS16

1. In a particular section of Class IX, 40 students were
asked about the months of their birth and the

following graph was prepared for the data so

obtained:
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Months of Birth —>
Fig. 14.1 Observe

the bar graph given above and answer the following

questions: (i) How many students were born in the


https://dl.doubtnut.com/l/_ccbh8tE31lXR

month of November? (ii) In which month were the

maximum number of students born?

o Watch Video Solution

2. A family with monthly income of Rs. 20,000 had

planned the following expenditures under various

heads :


https://dl.doubtnut.com/l/_ccbh8tE31lXR
https://dl.doubtnut.com/l/_PV2fP0W2INSo

Serial Head Expenditure
Number (in Rs. 1000)
: Grocery 4
y A Rent 5
Education of 0
children
4. Medicine 2
& Fuel for vehicle 2
6. Entertainment 1
7. Miscellaneous |
Draw a

bar graph for the above data.

° Watch Video Solution

3. A teacher analyses the performance of two sections
of students in a mathematics test of 100 marks given

in the following table:


https://dl.doubtnut.com/l/_PV2fP0W2INSo
https://dl.doubtnut.com/l/_z9HuO7XfsWuP

Marks Number of students
0—20 7

20-30 10

3040 10

4050 20

50—60 20

60—70 15

70 and above 8

Total 90

: Find the

probability that a student obtained less than 20% in

the mathematics test.

° Watch Video Solution

4.1n a city, the weekly observations made in a study on

the cost of living index are given in the following

table:


https://dl.doubtnut.com/l/_z9HuO7XfsWuP
https://dl.doubtnut.com/l/_zaqL53Srkchf

Table 14.10

Cost of living index Number of weeks

140 - 150 5
150 - 160 10
160 - 170 20
170 - 180 9
180-190 6
190 -200 2

Total 52

Draw a
frequency polygon for the data above (without

constructing a histogram).

o Watch Video Solution

5.5 people were asked about the time in a week they
spend in doing social work in their community. They
said 10, 7, 13, 20 and 15 hours, respectively. Find the
mean (or average) time in a week devoted by them for

social work.


https://dl.doubtnut.com/l/_zaqL53Srkchf
https://dl.doubtnut.com/l/_l7qbSQjBQVe0

o Watch Video Solution

6. Consider the marks obtained (out of 100 marks) by

30 students of Class IX of a school:

10 20 36 92 95 40 50 56 60 70
92 8 8 70 72 70 36 40 36 40

2 40 50 50 56 60 70 60 60 88 i
Find the

mean of the marks obtained by 30 students of Class IX

of a school.

° Watch Video Solution

7. The heights (in cm) of 7 students of a class are as

follows:162, 164, 173, 170, 166,168, 167 Find the median


https://dl.doubtnut.com/l/_l7qbSQjBQVe0
https://dl.doubtnut.com/l/_mdgz1RnYX0BK
https://dl.doubtnut.com/l/_utPBMLpVUqW7

of this data.

° Watch Video Solution

8. The points scored by a Kabaddi team in a series of
matches are as follows: 17, 2, 7, 27, 15, 5, 14, 8, 10, 24, 48,
10, 8, 7, 18, 28 Find the median of the points scored by

the team.

o Watch Video Solution

9. Find the mode of the following marks (out of 10)
obtained by 20 students: 4,6, 5,9, 3,2,7,7,6,5, 4,9, 10,

10,3,4,7,6,9,9


https://dl.doubtnut.com/l/_utPBMLpVUqW7
https://dl.doubtnut.com/l/_31ZXiRtKe3hp
https://dl.doubtnut.com/l/_77ieNsltF9tI

o Watch Video Solution

10. Consider a small unit of a factory where there are 5
employees : a supervisor and four labourers. The
labourers draw a salary of ¥5,000 per month each
while the supervisor gets ¥ 15,000 per month.
Calculate the mean, median and mode of the salaries

of this unit of the factory.

° Watch Video Solution



https://dl.doubtnut.com/l/_77ieNsltF9tI
https://dl.doubtnut.com/l/_XB1eiRPzevHe

